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Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,

centre number and candidate number.

Answer Questions 1, 2, 3 and 4. In Question 2, answer either Question 2(a)
Question 2(b). In Question 3, answer either Question 3(a) or Question 3(b).
Answer the questions in the spaces provided

— there may be more space than you need.

Write your answers in full sentences.

You must not use a dictionary.

Information

The total mark for this paper is 60.

The marks for each question are shown in brackets

— use this as a guide as to how much time to spend on each question.

— you should spend approximately 10 minutes on the translation question.

Advice
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Read each question carefully before you start to answer it.
Check your answers if you have time at the end.
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Tourism

(Source: © Westend61 GmbH/Alamy Stock Photo)

1 Tbl Ha KaHUKynax B Poccun. Tol nocbinaewwb 3Ty poTorpaduio B couymanbHble Meamna
Ana gpysen.

Onuwwu dpoTtorpadurio n CKaxu, YTo Tbl AyMaellb O Typu3Mme.

Hanunww npumepHo 15-20 cNOB NO-pYyCCKM.

(Total for Question 1 = 12 marks)
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Choose either Question 2(a) or Question 2(b).
If you answer Question 2(a), put a cross in the box [ .
Friends

2 (a) BblumuTaete cTaTbio O fpPY3bAX Ha BebCaliTe B MHTEPHETE. Bbl NuLLeTe 31eKTPOHHOe
NMMCbMO Ha BebcalT.

HanuwwuTe anekTpoHHOe NMCbMO Ha BeGCalT co cnepytoLen MHopmaLmen:
YTO BbI NlO6GUTE fenatb C Apy3bAMU

+  KaK YacTo Bbl BCTpeyaeTechb C APY3bAMM

«  Moyemy Bbl 06UTE Nlyullero gpyra/nyuiyio nogpyry

+  yTO Bbl OyaeTe Aenatb C Apy3baAmMU B byayluyto cy660Ty.

Hanunwwurte npumepHo 30-35 /0B NO-pyccKn.
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Y3adY SIHLNEILIHM 1ION Od V3HY SIHLENEILIHM 1ON Od

Y3HY SIHL NI ILIEM 1ON Od
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If you answer Question 2(b), put a cross in the box [ .
Weather
(b) Bbl untaete cTaTblo O NOrofe Ha pycckom BebcanTe.
HanuwunTe s3neKTpoHHOE NMCbMO Ha BebcalT co cnepyoLen nibopmaumen:
« Kakas norofa B BalleMm palioHe NeTom
«  yTO BbI NI0OUTE fenaTb, Korga noroga XxopoLuas
« rouemy Bbl N0OWTE NEeTHME KaHWKYIbI
« 4TO Bbl ByAeTe fenatb B CriedyoWnin pas, korga OyaeTt ooxab.

Hanuwwute npumepHo 30-35 C/10B NO-pYyCcCKN.

(Total for Question 2 = 16 marks)
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3

Choose either Question 3(a) or Question 3(b).
If you answer Question 3(a), put a cross in the box [ .

Technology

(@) DpwuK, TBOWM pyccKuin gpyr, Hanucan Tebe sneKTPOHHOE NMCbMO. OH XOYeT 3HaTb,

YTO Tbl iYMaellb O TEXHONOMUN.
Hanuww oteet apyry. Hago oTBeTUTb Ha BCe creaytoLmne NyHKTb:

«  CKOJIbKO BPEMEHU Tbl 0O6bIYHO NPOBOANILLb B MHTEPHETE

« rouemy Tbl MONb30BasNCA/NONb30BaNACH MOOMNBHMKOM HELABHO
«  npeanoynTaellb N Tbl MOOUTbHUK WX NISNTOM

« yTO Tbl OyAeLwb fenaTb HAa KOMMbloTepe Ha OyayLuen Hegene.

Hanuwwn npumepHo 60-65 COB NO-pyCccKn.
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If you answer Question 3(b), put a cross in the box [ .
School day

(b) Hactsa, TBOA pycckas nogpyra, XoueT 3HaTb, UTO Thbl AeMaellb KaXabli AeHb B
LKone.

Hanuww oteeT nogpyre. Hago oTBeTUTb Ha BCe crieaytolime NyHKTbI:
«  YTO Tbl O6bIYHO AENaELlb YTPOM B LLIKONE

«  YTO Tbl AYMaELUb O efie B WKone

«  YTO UHTepeCcHOro ObI10 B LUKOJIE Ha NPOLUNON Heaene

« yTO Tbl Bygelwb genaTb B WKOJe B byaywem roay.

Hanuwwn npumepHo 60-65 COB NO-pyCccKn.
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(Total for Question 3
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Clothes
4 [lepeegu 371 ¢ppasbl HA PYCCKNN A3bIK.

(@) Ilike jeans.

(e) Last Thursday | bought a yellow jumper in town but my friend thought that it
was expensive.

(Total for Question 4 = 12 marks)
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